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me: # éy Practice Monday 10/21/19

- Angle Bisector

y EF bisects £DEG . (The diagram is not drawn to scale.)
1. f m4DEG =8% , find msFEG =__ Y H o
2. f mLFED =27 ,find m£LGED = 5 ft 0

EF bisects ZDEG
“omplete the below statements:
-m<l=_1Y4 S °
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m< MEF= C‘oo-& us = \BBQ

. Vertical Angles

me the Two pair of vertical angles.
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d the value of x in degrees in each diagram below. Show your thinking.
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. ?Coops

|| Given: msl =me3

Prove: msZDBA = m£EBC

Statements S
Lomei=me3 | Coiven

2. mLDBA = ms3 +mzs2 Pmﬁ\a A dd tion podSulale
3. meDBA =msl+mez2 Substiulfen Properly

4. ms1+me2 =meEBC| Angle PAddiTion postulale

5. m4DBA = msEBC S ubshitulion / Trars ve

Provee EG=FH -

____ Statements - Reasons

L EFSGH L Given

2. EF=GH 2. Deéfins hon PorCmqrven
3.  EE+FG= GH+FG.J 3. ?SAA\‘\;\Q(\ Drovtr‘"(\l o
4. EE+FG=EG;, . 14 |
~__GH+FG=FH _ | S%Me” P Ten

5. EG=FH 5 Su\ps’\\ Lite 0.

6. EG FH | 6 ‘@&Qm\ ‘(\w\ QQ C_N\QWQ(\CL




K € \I Practice Tuesday 10/22/19
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Given: AC=BD
Prove: AB=CD
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I. AC=BD . (oiven
2.2AC=AB +BC 2. Scamm¥ Add: [von Postu(.af}z, .

-~ (BD = BC+CD
\SM‘OSJ‘\J‘ U‘\—\\Oﬂ .
Sublraclion Propery -
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3. AB+BC=BC+CD

94. AB=CD 4,
D
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CGiven: mz1=m«2; mz3=m«s4 T
Prove: mz ABC=m«DEF N\L\-QN‘\<3
. mel=mz2; me3=ms4 1. 6* ven
2 mszl+me3=me2+med 2.
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mz 1l +m{3=mz£ABC
mez2+ms4=m«DEF
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4. mzABC=mxy DEF




Given: BD bisects <EBC

y l,z.l.)

PR
Prove: <l and <3 are supplementary /y c ’
KF

sfatements

-_reasons

1. BD bisects <EBC

to

<l=<2

L2

. <2 and <3 form a linear pair

4. m<2+m<3=180

5. m<] =m<2
64 m<! +m<3 = 180

7. <1 and <3 are supplementary

Given: AB=9, BC=7and AB+

Prove: 16 =AC

statements
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i, Supplementary 2nales
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A B &

reasons

1. AB=9, BC=7
2. AB+BC=AC
3. 9+7=AC

4. 16=AC

1. (oiven
2. Segsacnt Add; Ton posl Lole

3. Su_\,g[\. tU‘\\CIV\




